


H/w Q. Which of the following is an inert gas most commonly found in light bulbs?    

निम्िनिनित में से कौि-सी एक अनिय गैस ह ैजो सामान्यतः िाइट बल्बों में पाई जाती ह ै?

(a) Argon / ऑगगि

(b) Hydrogen / हाइड्रोजि

(c) Oxygen / ऑक्सीजि 

(d) Radon /रेडॉि



• निद्यतु बल्बों में टंगस्टि (Tungsten) के तंतओु ं को

ऑक्सीकरण से बचािे एिं िाष्पीकृत होिे से रोकिे के

निए अनिय गैस ऑगगि (Argon) का प्रयोग नकया

जाता ह।ै यह गैस बल्ब में एक निनित दाब पर भरी

रहती ह।ै

• The inert gas argon is used in electric bulbs

to protect tungsten filaments from oxidation

and vaporization. This gas is filled in the

bulb at a certain pressure.



Indian Polity



Q.1 Who appoints Chief Election Commissioner of India? 

भारत के मखु्य चिुाि आयकु्त को कौि नियकु्त करता ह?ै

(a) The President of India / भारत के राष्रपनत 

(b) Prime Minister of India/भारत के प्रधािमंत्री 

(c) Chief Justice of India / भारत के मखु्य 

न्यायाधीश 

(d) Home Minister of India/भारत के गहृ मंत्री



• संनिधाि का भाग 15 'नििागचि' से संबंनधत ह।ै अिचु्छेद 324 यह

उपबंध करता है नक नििागचिों का अधीक्षण, निदशेि और नियंत्रण

नििागचि आयोग में निनहत होगा। अिचु्छेद 324 (2) के अिसुार,

मखु्य नििागचि आयकु्त तथा अन्य आयकु्तों की नियनुक्त, संसदीय

निनध के अधीि रहते हुए राष्रपनत द्वारा की जाएगी।

• Part 15 of the Constitution deals with 'Election'. Article

324 provides that the superintendence, direction and

control of elections shall be vested in the Election

Commission. According to Article 324 (2), the

appointment of the Chief Election Commissioner and

other commissioners shall be made by the President,

subject to parliamentary law.



Q.2  What is the minimum age requirement for appointment as a Governor?   

राज्यपाि के रूप में नियनुक्त के निए न्यिूतम आय ुनकतिी होिी चानहए? 

(a) 42 years/42 िर्ग

(b) 35 years / 35 िर्ग

(c) 25 years / 25 िर्ग 

(d) 26 years / 26 िर्ग



• सामान्यतया राज्यपाि का कायगकाि पद ग्रहण से पांच िर्ग की अिनध के

निए होता ह।ै अिचु्छेद 156 (1) के तहत राज्यपाि, राष्रपनत के

प्रसादपयंत अपिा पद धारण करता ह।ै राज्यपाि अपिा इस्तीफा राष्रपनत

को सौंपते हैं। राज्यपाि की नियनुक्त राष्रपनत द्वारा की जाती ह।ै राज्यपाि

के रूप में नियनुक्त के निए न्यिूतम आिश्यक आयु 35 िर्ग ह।ै

• Generally, the tenure of the Governor is for a period of

five years from the date of assumption of office. Under

Article 156(1), the Governor holds office during the

pleasure of the President. The Governor submits his

resignation to the President. The Governor is appointed by

the President. The minimum required age for appointment

as Governor is 35 years.



Q.3  The term of a Governor is-

राज्यपाि का कायगकाि नकतिे िर्ग का होता ह?ै

(a) 4 Years / 4 िर्ग

(b) 5 Years/5 िर्ग

(c) 6 Years / 6 िर्ग

(d) 3 Years / 3 िर्ग



Q.4 Who is the head of the government of a state in India? 

भारत में नकसी राज्य की सरकार का प्रमिु कौि होता ह ै?

(a) Governor / राज्यपाि

(b) Chief Minister / मखु्यमंत्री 

(c) Prime Minister / प्रधािमंत्री

(d) Speaker of the Assembly / 

निधािसभा अध्यक्ष



• भारत में नकसी राज्य की सरकार का प्रमिु राज्यपाि

होता ह।ै राज्यपाि की नियनुक्त भारत के राष्रपनत

द्वारा की जाती ह।ै राज्यपाि निधािसभा के सत्र को

बिुािे या सत्रािसाि करिे तथा निघनटत करिे की

शनक्त रिता ह।ै

• In India, the head of government of a state

is the governor. The Governor is

appointed by the President of India. The

Governor has the power to summon or

prorogue and dissolve the session of the

Legislative Assembly.



Q.5 As per the Indian Constitution, a member of the Union Public Service 

Commission  holds office for a term of six years or until he attains the age of  

_______.

भारतीय संनिधाि के अिसुार, संघ िोक सेिा आयोग का सदस्य छह िर्ग की अिनध के निए या 

_______आय ुपरूी होिे तक अपिे पद पर रहता ह।ै 

(a) 65 

(b) 62

(c) 68

(d) 60



• भारतीय संनिधाि के अिचु्छेद 316(2) के

अिसुार, संघ िोक सेिा आयोग का सदस्य छह

िर्ग की अिनध के निए या 65 िर्ग की आयु परूी

होिे तक अपिे पद पर रहता ह।ै

• As per Article 316(2) of the Constitution

of India, a member of the Union Public

Service Commission holds office for a

term of six years or until he attains the

age of 65 years.



Q.6  In which of the following year The Union Public Service Commission was 

formed? 

निम्िनिनित में से नकस िर्ग में संघ िोक सेिा आयोग का गठि नकया गया था ?

(a) 26-11-1948

(c) 11-02-1945

(b) 23-12-1934 

(d) 01-10-1926



• भारत में िोक सेिा आयोग की स्थापिा िी आयोग की नसफाररश के आधार पर, सर

रास बाकग र की अध्यक्षता में 1 अक्टूबर, 1926 को हुई। भारत सरकार अनधनियम, 1935

के प्रािधािों के अिसुार 1 अप्रैि, 1937 से प्रभािी होिे के साथ ही िोक सेिा आयोग,

फेडरि िोक सेिा आयोग बि गया। स्ितंत्रता प्रानि के बाद यह संघ िोक सेिा आयोग

बि गया और 26 जििरी, 1950 को इसे संिैधानिक दजाग प्रदाि नकया गया।

• The Public Service Commission in India was established on October

1, 1926, under the chairmanship of Sir Ras Barker, based on the

recommendation of the Lee Commission. As per the provisions of the

Government of India Act, 1935, with effect from 1st April, 1937, the

Public Service Commission became the Federal Public Service

Commission. After independence, it became the Union Public Service

Commission and was given constitutional status on January 26, 1950.



History



Q.7 Who among the following Indian revolutionaries thought of an armed rebellion 

against the British with the help of Germany?

निम्ि भारतीय िांनतकाररयों में से जमगिी के सहयोग से अंग्रेजों के नििाफ सशस्त्र निद्रोह का निचार 

नकसिे नकया था? 

(a) Khudiram Bose / िदुीराम बोस 

(b) Ashfaqulla Khan / अशफाक उल्िा

(c) Bagha Jatin/ बाघा जनति 

(d) Prafulla Chaki / प्रफुल्ि चाकी



• भारतीय िांनतकारी बाघा जनति िे जमगिी के सहयोग से

अंगे्रजों के नििाफ सशस्त्र निद्रोह का निचार नकया था।

िह यगुांतर पाटी के एक प्रमिु थे, जो बंगाि में स्ितंत्रता

सेिानियों का एक मखु्य िांनतकारी संगठि था।

• Indian revolutionary Bagha Jatin thought of

an armed rebellion against the British with the

help of Germany. He was a leader of the

Yugantar Party, a main revolutionary

organization of freedom fighters in Bengal.



Q.8 The Sepoy Mutiny in India started from_______. 

भारत में नसपाही निद्रोह की शरुुआत कहां से हुई थी ? 

(a) Rajkot / राजकोट

(b) Champaran / चंपारण

(c) Bareilly / बरेिी 

(d) Meerut / मेरठ



• भारतीय निद्रोह की शरुुआत 10 मई, 1857 को मेरठ में

हुई और इसकी समानि 20 जिू, 1858 को ग्िानियर में

हुई। अंगे्रज जिरि ह्यरूोज से िड़ते हुए झांसी की रािी

िक्ष्मीबाई जिू, 1858 में िीरगनत को प्राि हुई।

• The Indian Rebellion began on 10 May 1857

in Meerut and ended on 20 June 1858 in

Gwalior. Rani Lakshmi Bai of Jhansi

attained Veergati in June, 1858 while

fighting with the British General Heroes.



Q. 9  Mutiny of 1857 was described as the First Indian War of Independence by-

1857 के निद्रोह को भारत के प्रथम स्ितंत्रता संग्राम की संज्ञा नकसिे प्रदाि की?

(a) Bal Gangadhar Tilak / बाि 

गंगाधर नतिक

(b) Subhash Chandra Bose / सभुार् 

चंद्र बोस

(c) Bhagat Singh / भगत नसंह

(d) V. D. Savarkar / िी.डी. सािरकर



• िी.डी. सािरकर िे अपिी पसु्तक 'The Indian war

of Independence 1857 में 1857 के निद्रोह को

सनुियोनजत स्ितंत्रता संग्राम की संज्ञा दी। उन्होंिे इसे

भारत के प्रथम स्ितंत्रता संग्राम की संज्ञा प्रदाि की।

• VD Savarkar in his book 'The Indian war of

Independence 1857' termed the rebellion of

1857 as a planned freedom struggle. He

gave it the noun of India's first freedom

struggle.



Q. 10 Who spearheaded the Revolt of 1857 rebellion in Bihar? 

1857 की िांनत के दौराि, नबहार में निद्रोह का िेततृ्ि नकसिे नकया था?

(a) Kunwar Singh/कंुिर नसंह

(b) Bakht Khan / बख्त िाि

(c) Tatya Tope / तात्या टोपे 

(d) Nana Sahib/िािा सानहब



• 1857 की िांनत के दौराि नबहार में निद्रोह का िेततृ्ि

कंुिर नसंह िे नकया था। उन्होंिे अपिे गहृिगर

जगदीशपरु के निकट अंगे्रजों को बरुी तरह से परानजत

नकया। इसी यदु्ध के दौराि कंुिर नसंह बरुी तरह घायि

हो गए और 26 अप्रैि, 1858 को उिकी मतृ्यु हो गई।

• During the Revolt of 1857, the rebellion in

Bihar was led by Kunwar Singh. He badly

defeated the British near his hometown

Jagdishpur. During this battle, Kunwar

Singh was badly injured and died on April

26, 1858.



Q. 11 Who among the following was a leader who led a revolt against the British 

rule from North East India? 

निम्ि में से नकस िेता िे उत्तर-पिूग भारत से निनटश शासि के नििाफ निद्रोह का िेततृ्ि नकया था? 

(a) Matangini Hazra/ मातंनगिी हाजरा 

(b) Rani Gaidinliw/ रािी गाइनदन्ल्यू

(c) Durgawati Devi/ दगुागिती दिेी

(d) Pritilata Waddedar/ प्रीनतिता िाददेार



• सनििय अिज्ञा के दौराि मनणपरु की जिजानतयों िे भी

सनिय भागीदारी नदिाई। यहां पर आंदोिि का िेततृ्ि

िगा जिजानत की मनहिा गाइनदन्ल्यू िे नकया। इसे

'नजया तरंग आंदोिि कहा जाता ह।ै

• The tribes of Manipur also showed active

participation during civil disobedience. Here

the movement was led by Gaidinliu, a

woman from the Naga tribe. This is called

'Jiya Tarang Movement'.



Q. 12 In which of the following years did the Santhal Revolt take place?

संथाि निद्रोह निम्िनिनित में से नकस िर्ग हुआ था? 

(a) 1855-56

(b) 1825-26

(c) 1848-49

(d) 1874-75



• 1855-56 ई. में संथाि निद्रोह हुआ, जो एक प्रनसद्ध

आनदिासी निद्रोह था। नजसमें मिूभतू आनदिासी

आिेग और निनटश शासि के पणूग नतरस्कार जैसी

भाििाएं दिेिे को नमिती हैं। इस निद्रोह के िेता नसद्ध,

कान्हू, चांद एिं भैरि िामक 4 भाई थे।

• In 1855-56 AD, the Santhal rebellion took

place, which was a famous tribal rebellion.

In which sentiments like basic tribal impulse

and complete disdain of British rule are seen.

The leaders of this rebellion were 4 brothers

named Siddha, Kanhu, Chand and Bhairav.



Geography



Q.13 Where can we find Jarawa and Onge tribes in India?

भारत में हमें जारिा और ओन्गे जिजानतयां कहां नमि सकती ह?ै

(a) Arunachal Pradesh/अरुणाचि प्रदशे

(b) Andaman and Nicobar 

Islands/अंडमाि एिं निकोबार द्वीपसमहू 

(c) Chhattisgarh/ छत्तीसगढ़

(d) Daman and Diu/दमि और दीि



• भारत में जारिा और ओन्गे जिजानतयां अंडमाि एिं

निकोबार द्वीपसमहू में पाई जाती हैं । जारिा नशकार करिे

और एकनत्रत रूप से रहिे िािी िािाबदोश जिजानत ह।ै

ओन्गे जिजानत निनटि अंडमाि द्वीप में नििासरत ह।ै

• In India, the Jarawa and Onge tribes are found

in the Andaman and Nicobar Islands. The

Jarawa are a nomadic tribe that hunted and

lived together. The Onge tribe lives in Little

Andaman Island.



Q.14 Madheshi tribe is related to India and its neighboring country? 

मधेशी जिजानत भारत तथा उसके पड़ोसी दशे से संबंनधत ह?ै 

(a) Nepal/ िेपाि

(b) Sri Lanka/श्रीिंका

(c) Bangladesh/बांग्िादशे 

(d) Pakistan/ पानकस्ताि 



• मधेशी जिजानत भारत तथा उसके पड़ोसी दशे िेपाि से

संबंनधत ह।ै िेपाि के दनक्षणी भाग के मैदािी के्षत्र को मधशे

कहते हैं और यहां नििास करिे िािे िेपािी िोगों को मधेशी

कहते हैं। इि िोगों की संस्कृनत और रीनत-ररिाज नबहार और

उत्तर प्रदशे के िोगों जैसी ह।ै अंतर केिि यह है नक मधेशी

िेपािी हैं, जो सीमा के उस पार रहते हैं।

• Madheshi tribe is related to India and its

neighboring country Nepal. The plain area of the

southern part of Nepal is called Madhesh and the

Nepali people living here are called Madheshi.

The culture and customs of these people are

similar to those of Bihar and Uttar Pradesh. The

only difference is that the Madheshis are

Nepalese, who live across the border.



Q.15 Which is the only perennial river of peninsular India? 

प्रायद्वीपीय भारत की एकमात्र बारहमासी िदी कौि सी ह?ै

(a) Godavari/ गोदािरी 

(b) Kaveri/कािेरी 

(c) Krishna/कृष्णा

(d) Bhima / भीमा



• प्रायद्वीपीय भारत की एकमात्र बारहमासी िदी कािेरी ह।ै यह िदी

किागटक के कुगग नजिे में िह्मनगरी की पहानड़यों से निकिती ह।ै

िोकनप्रयता की दृनि से ‘दनक्षण की गंगा’ कािेरी को कहा जाता ह।ै

अनधकांश आयोग द्वारा ‘दनक्षण की गंगा’ कािेरी को मािा गया ह।ै

िेनकि एिसीईआरटी के अिसुार, ‘दनक्षण गंगा’ शब्दाििी का प्रयोग

गोदािरी के निए हुआ ह।ै

• Kaveri is the only perennial river in peninsular India.

This river originates from the Brahmagiri hills in the

Kurg district of Karnataka. In terms of popularity, Kaveri

is called 'Ganga of the South'. Cauvery has been

considered by most of the commission as 'Ganga of the

South'. But according to NCERT, the term 'Dakshin

Ganga' is used for Godavari.





Q.16 Indravati, Pranahita and Sabari are the tributaries of which of the 

following?

इदं्रािती, प्राणनहता और सबरी निम्िनिनित में से नकसकी उप-िनदयां ह?ै

(a) Ganga/गंगा

(b) Godavari/गोदािरी 

(c) Cauvery/कािेरी 

(d) Krishna/कृष्णा



• इदं्रािती, प्राणनहता और सबरी िनदयां, गोदािरी िदी की

सहायक िनदयां ह।ै इसकी अन्य सहायक िनदयों में िर्ाग,

मािेर, मंजीरा, पणूाग, प्रिरा, मिुा, दधूिा, दिेगंगा आनद हैं।

गोदािरी िदी प्रायद्वीपीय भारत की सबसे िंबी िदी ह।ै

• The Indravati, Pranahita and Sabari rivers are

tributaries of the Godavari River. Its other

tributaries are Varsha, Maner, Manjira, Poorna,

Pravara, Mula, Dudhna, Denganga etc. The

Godavari River is the longest river in

peninsular India.





Current Affairs



Q.17 When was G20 established? 

G20 की स्थापिा कब हुई थी?

(a) 1995

(b) 1999

(c) 1985

(d) 2000



• The G20 group of 19 countries and the EU was established

in 1999 as a platform for Finance Ministers and Central

Bank Governors to discuss international economic and

financial issues.

• 19 दशेों और यरूोपीय संघ के समहू G20 की स्थापिा 1999 में नित्त

मंनत्रयों और कें द्रीय बैंक के गििगरों के निए अंतरागष्रीय आनथगक और

नित्तीय मदु्दों पर चचाग करिे के निए एक मंच के रूप में की गई थी।



Q.18   What is the theme of the G20 summit happening in India?

भारत में हो रह ेG20 नशिर सम्मेिि का निर्य क्या ह?ै

(a) Shaping an Interconnected World/आपस में जडु़ी दनुिया को 

आकार दिेा

(b)  Fighting poverty with rigidity/कठोरता से गरीबी से िड़िा

(c) "One Earth-One Family-One Future”/                       

"एक पथृ्िी-एक पररिार-एक भनिष्य"

(d)  Making the world together/दनुिया को एक साथ बिािा



• The theme of India’s G20 Presidency - “Vasudhaiva

Kutumbakam” or “One Earth · One Family · One Future” - is

drawn from the ancient Sanskrit text of the Maha Upanishad.

• भारत के G20 प्रेसीडेंसी का निर्य - "िसधैुि कुटुम्बकम" या "एक पथृ्िी ·

एक पररिार · एक भनिष्य" - महा उपनिर्द के प्राचीि संस्कृत पाठ से निया

गया ह।ै



SCIENCE



Q.19 Why does ice covered in sawdust not melt quickly?

बरुाद ेसे ढकी हुई बफग  जल्दी से क्यों िहीं नपघिती ?

(a) Sawdust does not allow the air to 

touch the ice/ बरुादा हिा को बफग  तक िहीं 

जािे दतेा। 

(b) The water is absorbed by sawdust / 

बरुादा पािी को सोि िेता ह।ै

(c) Sawdust is a bad conductor of heat / 

बरुादा ऊष्मा का कुचािक ह।ै

(d) Sawdust is a good conductor of heat / 

बरुादा ऊष्मा का सचुािक ह।ै



• बरुादे से ढकी हुई बफग जल्दी िहीं नपघिती, क्योंनक

िकड़ी ऊष्मा की कुचािक ह।ै ऊष्मा की कुचािक

होिे के कारण िकड़ी कोई बाह्य ऊष्मा ग्रहण िहीं

करती, नजससे बफग का तापमाि िहीं घटता तथा िह

धीरे-धीरे नपघिती ह।ै

• Snow covered with sawdust does not melt

quickly because wood is a bad conductor of

heat. Being a bad conductor of heat, wood

does not absorb any external heat, due to

which the temperature of ice does not

decrease and it melts slowly.



Q.20 At hill stations, the boiling point of water will be____. 

पिगतीय के्षत्रों में जि का क्िथिांक क्या होगा ?

(a) Same  as at sea level / िही जो समदु्र ति 

पर होता ह।ै 

(b) Less  than that at sea level /नजतिा 

समदु्र ति पर होता ह,ै उससे कम

(c) More  than that at sea level /नजतिा 

समदु्र ति पर होता ह,ै उससे अनधक 

(d) Equal  to the melting point of ice / 

बफग  के गििांक के बराबर



• पथृ्िी की सतह से बढ़ती ऊंचाई के अिपुात में

िायमंुडिीय दाब घटता जाता ह।ै िायु के घटते दबाि के

साथ-साथ जि का क्िथिांक घटता जाता ह।ै अतः

पिगतीय क्षेत्रों में जि का क्िथिांक समदु्र ति की अपेक्षा

कम होगा।

• Atmospheric pressure decreases in

proportion to the increase in altitude from the

surface of the earth. The boiling point of

water decreases with decreasing air pressure.

Therefore, the boiling point of water in

mountainous regions will be lower than that

at sea level.



Q.21 What is the name of the device used to convert alternating current into direct 

current? 

प्रत्यािती धारा (AC) को नदि धारा (DC) में बदििे के निए नकस यनुक्त का प्रयोग नकया जाता ह?ै

(a) Ammeter / ऐमीटर

(b) Galvanometer / गैल्िेिोमीटर

(c) Rectifier / रेक्टीफायर 

(d) Transformer/रांसफामगर



• रेक्टीफायर (Rectifier) एक िैद्यतु यनुक्त (Electric

Device)है जो प्रत्यािती धारा या अल्टरिेनटि करेंट

(AC) को नदि धारा या डायरेक्ट करेंट (DC) में

पररिनतगत करती ह।ै

• A rectifier is an electrical device that

converts alternating current or alternating

current (AC) into direct current or direct

current (DC).



Q.22 Transformer is a device to convert –

रांसफॉमगर नकसे पररिनतगत करिे की यनुक्त ह?ै 

(a) D.C. to A.C./डी.सी. को ए.सी. में

(b) Low voltage D.C. into high voltage D.C. / 

कम िोल्टेज डी.सी. को उच्च िोल्टेज डी.सी. में

(c) Low voltage A. C. into high voltage A .C./ 

कम िोल्टेज ए. सी. को उच्च िोल्टेज ए.सी. में 

(d) Mechanical energy into Electrical energy/ 

यांनत्रक ऊजाग को निद्यतु ऊजाग में



• रांसफॉमगर का उपयोग प्रत्यािती धारा (ए.सी.) निभि

को उच्चायी ि अपचायी करिे के निए करते हैं।

इििटगर एक िैद्यतु सनकग ट होता है जो नदि धारा

(डी.सी.) को प्रत्यािती धारा या ऑल्टरिेनटंग करेंट

(ए.सी.) में पररिनतगत करता ह।ै डायिमो यांनत्रक ऊजाग

को निद्यतु ऊजाग में बदिता ह।ै

• Transformers are used to step up and step

down the alternating current (AC)

potential. An inverter is an electrical

circuit that converts direct current (DC) to

alternating current (AC). Dynamo

converts mechanical energy into electrical

energy.



Q.23 What is the viscosity of an ideal fluid? 

नकसी आदशग द्रि की श्यािता नकतिी होती ह ै? 

(a) Equal to its mass / उसकी द्रव्यमाि के समाि

(b) Equal to its weight / उसके भार के तलु्य 

(c) Zero / शनू्य

(d) One / एक



Q.24 The frequency of a wave is the reciprocal of its ______.

नकसी तरंग की आिनृत्त उसके______ का व्यतु्िम होती ह।ै

(a) Speed/ गनत

(b) Wavelength/तरंगदधै्यग

(c) Time period/आितगकाि

(d) Amplitude / आयाम 



• दोिि करिे िािी िस्तु एक सेकंड में नजतिे दोिि

करती ह,ै िह उसकी आिनृत्त (Frequency) कहिाती

ह।ै इसे n से प्रदनशगत करते हैं। आिनृत्त का SI मात्रक

हटटगज या प्रनत सेकंड होता ह।ै

• The number of oscillations that an

oscillating object makes in one second is

called its frequency. It is denoted by n. The

SI unit of frequency is hertz or per second.



Q.25 Kinetic energy depends on_____.

गनतज ऊजाग नकस पर निभगर करती ह?ै 

(a) The  velocity or speed of the moving 

body/ गनतशीि/चििशीि नपंड के िेग पर

(b) The  mass of the moving body / 

गनतशीि नपंड के भार पर

(c) The  pressure of the moving body / 

गनतशीि नपंड के दाि पर

(d) Both  mass and velocity of the 

moving body/गनतशीि नपंड के िेग तथा 

भार दोिों पर



• गनतज ऊजाग (kinetic energy) k= 1/2 mv2

• स्पि है नक गनतज ऊजाग गनतशीि नपंड के िेग अथागत

(v) तथा उसके द्रव्यमाि m दोिों पर निभगर करता ह।ै

अंगे्रजी में 'भार' के निए 'Mass' शब्द का प्रयोग हुआ ह,ै

जबनक Mass का नहदंी व्याकरण में अथग द्रव्यमाि होता

ह।ै अतः इस प्रश्न में भार से तात्पयग द्रव्यमाि से ह।ै

• It is clear that the kinetic energy depends on

both the velocity (v) of the moving body and

its mass m. The word 'Mass' is used for

'weight' in English, while Mass means mass

in Hindi grammar. So in this question, mass

refers to mass.



Q.26 The main protein found in milk is________.

दधू में पाया जािे िािा मखु्य प्रोटीि कौि-सा ह ै?

(a) Albumin/एल्बनुमि 

(b) Globulin / ग्िोब्यनुिि

(c) Globin / ग्िोनबि 

(d) Casein/ कैसीि



• दधू में कैसीि िामक प्रोटीि उपनस्थत होता ह।ै इसी प्रोटीि के

कारण दधू सफेद रंग का होता ह।ै गाय के दधू के हल्के-पीिे

रंग का कारण कैरोटीि की उपनस्थनत ह।ै कैरोटीि

हाइड्रोकाबगि होता ह।ै इसके अनतररक्त बीटा-िैक्टोग्िोबनुिि

और अल्फा िैक्टाल्बनुमि िामक प्रोटीि भी पाया जाता ह।ै

• A protein called casein is present in milk. Milk

is white in color due to this protein. The light-

yellow color of cow's milk is due to the presence

of carotene. Carotene is a hydrocarbon. Apart

from this, proteins called beta-lactoglobulin and

alpha-lactalbumin are also found.



Q.27  Name the catalyst used to convert milk into curd.

दधू को दही में बदििे में उपयोग नकए जािे िािे उत्पे्ररक का िाम बताइए।

(a) Pepsin/ पेनससि 

(b) Lactase/िैक्टेज

(c) Invertage/इििटेज 

(d) Diastage/डायस्टेज



• दधू से दही बिािे में िैक्टेज (Lactase) िामक उत्प्रेरक

का उपयोग नकया जाता ह।ै प्राकृनतक रूप से दधू को दही

में बदििे में िैक्टोबेनसिस िामक जीिाणु उपयोगी हैं।

• A catalyst called lactase is used to make curd

from milk. Lactobacillus bacteria are useful

in converting milk into curd naturally.


